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™
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(i) F¥H 37 3141 8, 917 7 & gt ulg & 3w 52

Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(ii) FeI% 397 % TH} 47T %) FHAIR 0F G1I 5T FN |

Solve all parts of a question consecutively rogether.
(iii) 3% 577 1 79 98 § IR o |

Start each question on fresh page.
(iv) §1 YT1571 7 37 817 1 RIf) 5 o) argare & AT @

Only English version is valid in case of difference in both the languages.
AR i s s A s ava &g 7 » 1p, 2s, 2p T& 3f,
Which of the following orbitals are not possible ? — Ip, 2s, 2p & 3f.
e Tt § aiftes frega soft o w1 am Rifew |

Write the name of elements having highest electro-negative value in periodic table.
TR 1 HEAT 31 THTIIT T STAT H1S Teh s Fo7RaT |

Write one factors which influence degree of ionisation.

o5 < wrrg % - e i e 7l et £ |

Name any two metals, which do not undergo corrosion.

‘st e T’ 3 i e o 7

Which gas was liberated in ‘Bhopal Gas Tragedy’ ?

uRifee &1 TEE g foRam |

Write the chemical formula of Permutite,

(vil) ST~ 1 geres frRaw |

Write the composition of Bio-gas.

(1 of 4) P.T.O.




103

(2 of 4) - 702

-(viii)ﬁzﬁﬁﬁ%wﬁmamaﬁmwﬁmt

Name the substance used as a retarder in cement.

(ix) T Q3 Tgeh Terel Famsy |

Name any two solid lubricants.

(x) et I ot SR e 0§ 7 g He forae |

- ®

(i)

(ii1)

(iv)

™)

(vi)

(®

(ii)

(iii)

What is the critical temperature of a gas ? Write its significance. (1x10)

34 HEF % T ) wien wed fAReT |

Write the quantum numbers of electrons for 3d orbital.
rafear F1 8 ? YRS 3113?? forem forfRe |

What is periodicity ? State modern periodic law.

awﬁw&mﬁaﬁﬁqmmm(czﬂjoﬂ)%awﬁmﬁml

Define molecular mass. Calculate the molecular mass of ethyl alcohol.
(C,H,OH)

w&%&ﬁﬁwﬁpﬂﬂ%fﬁmﬁ[mmmamwmmmﬁ

_maﬁml

If a solution is having pH=3, calculate its [H*] and [OH"] ions concentration.
Tz 5 Fi 7 9 dee B TH g 1 B i S A R 7
Explain why, the nut and bolt of the same metal are preferred.

TR Rraves & ety R fafew |

Write chemical reaction of nuclear fission. (2x6)

o] 3 e Afeet 1 ge ufeerd fafee |
Write the main postulates of Bohr model of atom.
SRS Rrgra w91 § 7 (n + [) Few wEEe |
What is Aufbau principle ? Explain (n + /) rule..
1 fasra i afenia it lw@mwﬁmﬁaﬁ%amm |

Define ionisation potential. Explain any two factors affecting it. (4x3)
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ufdt faem =t aforfe fifte, fedft & swufdft e ft sw
foranfafes auzmsT |

Define Buffer solution. Explain Buffer action of any one Buffer solution.

R 4.0 gm NaOH H 100 cm? Rrere 3 firer e s &, <t 39 Rierm 1 wirewan
g AT 3 TTOMET AT |

If 4.0 g of NaOH is dissolved in 100 cm? of solution, calculate molarity and
normality of this solution. (6x2)

T = ol 8 a1 feaf |

Write differences between calcination and roasting.

qIGE 9 A= e & At fafew |

Write differences between thermoplastic & thermosetting plastic.
HOR TS g i I T fafdy &1 a7 Hifvrg |

Describe Ion exchange method of softening of hard water. (4x3)

S 35 o e 58 P e 3 P ) e et ot e |

What are the causes and effects of air pollution ? Describe any two methods used
to control it.

o & it 7 i afenfia i | 78 e TR 6 Exd ] 7 5w T Rg
A fafae |

Define calorific value of fuel. How many types of calorific values are ? Give
formula to calculate each. (6x2)

TS 1 8 7 T TS TIE o SATTerEi o ffaw |

What is lubricant ? Write the characteristic features of a good lubricant.

Y[ HYRVT TEE 5Ra gRT GuesT U Sarse i w4 gt aig #1 Ik
T GRT WETRYT T 211 8, el &R Hg ferar & G Sl 7

Explain dry corrosion by chemical reactions and explain why aluminium metal is
not corroded by dry air where as alkali metals corrode fast ? (6x2)

P‘T‘O.
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8. () Tt drw feomoft forfa
Write short note on the following (any two) : (3x2) .
(a) tferemeres weref
Super conductor
(b) TS T AT
Soap & detergent
(c) iEHIHR
Varieties of glass
(i) Tr=faRaa % IUPAC ™ foRey :
Write IUPAC names of the following : (2x3)
(@) H- g - OH

o=0

H3
~CH,
H3

(¢ H,C-

O—0—0



